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QUESTION 1

Which of the following is enabled by default on an EX Series switch?
A. MAC move limiting

B. storm control

C. IP source guard

D. dynamic ARP inspection

Correct Answer: B

QUESTION 2

Which two statements are correct regarding the default behavior of an EX Series switch? (Choose two.)
A. All interfaces are set as access ports.

B. No interfaces are assigned to a VLAN

C. All interfaces are set as trunk ports.

D. All interfaces are members of the default VLAN.

Correct Answer: BD

QUESTION 3

MAC = 00:21:02:00:00:01
IP=10.1010.10/24

VLAN =10

Dofault Gotewoy = 10.10,10,1

sl e
A 0/0f28
WA = D007 ;0200 00;
IP=10.10.20.20/24

WLAM = 20
Default Gateway =10,10.20.1

=
Ln

Referring to the exhibit, a packet sent from User A to User B will be forwarded out interface 0/0/23 using which source
MAC address?

A. Source MAC of user A
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B. Source MAC of user B
C. Source MAC associated with IP address 10.10.10.1
D. Source MAC associated with IP address 10.10.20.1

Correct Answer: D

QUESTION 4

-- Exhibit -

user@R1> show route 66.129.0.0/22 exact detail
inet.0: 12 destinations, 12 routes (11 active, 0 holddown, 1 hidden)
66.129.0.0/22 (1 entry, 1 announced)
*Aggregate PreferencE. 130

Next hop typE. Reject

Next-hop reference count: 2

StatE.

AgE. 1:39:21

Task: Aggregate

Announcement bits (1): 0-KRT

AS path: | (LocalAgg)

Flags: Depth: 0 Active

AS path list:

AS path: | Refcount: 3

Contributing Routes (3):

66.129.0.0/24 proto Direct

66.129.1.0/24 proto Direct

66.129.2.0/24 proto Direct

-- Exhibit -

In the exhibit, R1 receives a packet with a destination address of 66.129.3.1.
Which action does R1 take on the packet?

A. R1 rejects the packet and sends an unreachable message back to the source.
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B. R1 forwards the packet to the next hop associated with the primary contributing route.
C. R1 forwards the packet to the next hop associated with the contributor with the lowest RID.
D. R1 silently discards the packet.

Correct Answer: A

QUESTION 5
-- Exhibit ?
Serve R1 R2 HostA
ge-0,0,1
oe-0/0/2 |
ge-0,/0/3 .
ge-0,/0/4

-- Exhibit -You are performing a file transfer from HostA to ServerB. As shown in the exhibit, R1 and R2 have four equal-
cost paths.

Which statement is correct about the default behavior of the routers load-balancing this traffic?
A. The file transfer is balanced across all four paths.

B. The file transfer is balanced across interfaces ge-0/0/1 and ge-0/0/2.

C. The file transfer is balanced across interface ge-0/0/1.

D. The file transfer is sent across one path selected randomly by R2.

Correct Answer: D
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